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Notre:
1)
1)

iii)

1v)

v)

Vi)

vii)

The question paper is divided into twg parts — Part-A and Part-B.
Part-A and Part-B arc divided into three Sub-Sections — (1), (2) and

(3).

1 mark is allotted for each question in the multiple choice questions

of Part-A.

Part-B has desc}iptive questions.

In Part-A of the question paper, there are multiple choice questions in
which sclect the correct alternative and then by a blue or black ball

point pen, fill completely the circle in OMR Answer Sheet. Do not cut,

crase or use whitener on the OMR Answer Sheet after answering.

The allotted marks are given in each question.

time. Start each Sub-Section from a new page.

viii) All the questions are compulsory.

WUg - 37
PART - A

( Tgfawedta we )

All the questions of Sub-Sections of Part-B are to

(Multiple Choice Type Questions )

JAHTT - (1)

Sub-Section - (1)

I & WG & A W9 T w 3

(A)  hael JEae U & fom (B)
(C) = WO guor & Ffg (D)
Laws of reflection are always trye for

(A)  only concave mirror (B)

(C) only plane mirror (D)

HIE IAA A7 F forg
TR Tl

only convex mirror

all of these

ﬁnﬂmqwmﬁaamﬁmuﬁﬁmmmg

(A)  IAA T FRI

(B)
(C) 3add 3901 gy

(D)
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Magnified virtual image of an
(A) convex lens
(C) concave mirror

object can be formed by
(B) convex mirror
(D) both (A) and (C) 1

(A) TR L BUGED

©) e (o) fagRd !
A material of very large resistance is called as

(A) conductor (B) semiconductor

(C}) superconductor (D) insulator 1
foege wfe + e &

(A) dree ® T

(C) = (D) el !
Unit of electrical power is

(A) volt - (B) watt

(C) joule (D) coulomb 1

fordt farera Shaelt o wanfed uwr diF T o 3 W Shael! T o9 FE H AT 8
ST

(A) W (B) = T |
(€ T (D) &g T 1

If current flowing in an electric kettle is tripled, heat produced in the
kettle will become

(A) four times (B) three times

(C) nine times (D)  twelve times 1

T = gX e aEgell & e T9 W 3@ F sy §1 5% A 10 Q9 g

(a) @ gfe 3w (B) frRg s

(C) <R gTgfeeaT (D) T & 1
A person is unable to see distant objects clearly. Defect in his eyes
will be - S

(A) long-sightedness (B) near-sightedness

(C) presbyopia (D)  all of these 1

T 37aae 0Ur fRt g o1 AT, I SR sty sier whEE e 8
] Fi Rafa @t

(&) ®iH W (B) ¥a IR g H B

(C) =Fd g W (D) I W 1
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7. If a concave mirror forms rcal, inverted and a very small image of an
object then object should be situated
(A} at focus (B)  between pole and focus 1
(C) at centre of curvature (D)  atinfinity
JUHTT- (2)

Sub-Section - (2)
8. WA HI A1y § TR W HE IRHHALE T H a7 I &

(A)  WET arfufmar (B) oo sxfufimar =1

(C) faforemum asifufsran &1 (D) faaem arfafewar & 1
8. Burning of carbon in air to form carbon dioxide gas is an example of

(A)  Combination reaction (B)  Displacement reaction

(C) Double displacement reaction (D) Decomposition reaction 1
9. I 3t W aq wewafier o w ofifr ¥ g reerdh

(A) H, B) O,

(€) cl, (D) co,, 1
9. The gas liberated on reaction of dilute sulphuric acid on zinc powder is

(A) H, (B) O,

© cl, (D) co, 1
10. UMM AM9FY 91 3 H 59 % w9 ° Qi 9 qreh 37T §

(A) TR (B) @

(C) AR - (D) 3mEEN 1
10. At NTP, the non-metal found in liquid form is

(A) Chlorine (B) Bromine

(C) Fluorine (D) lodine 1
11. W= o frners o &

(A) —OH (B)  — CoOH

€ >cC=o (D)  —CHO 1
11. The functional group in Propanone is

(A) —OH B)  — coon

(C) >C=0 (D) — CHO
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12: AT () T8 e "i.wﬂﬁﬂqﬁm(mﬁfaﬁmaﬁﬁ?amﬁmﬁﬁmz

FIOW (A) -
. HIAH (B)
A) UlceEEs H H
;._1] H— ‘#"" —QH
. H H
B) Ueshizd H H
b) H~¢—¢—g=0
, H H
C) wEiegics 3 H H H
o H-(-C=C—Br
H H H
D 3 H
) e 4 ned-coce
H
(A)  A-(c), B-(b), C-(d), D-(a) (B)  A-(b), B-(c), C-(d), D-(a)
(C) A-(d), B-(a), C-(b), D-(c) (D)  A-(b), B-(d), C-(a), D-(c) 1
12.  Match the compounds given in Column (A) with their cxamples given in
Column (B) :
Column (A) Column (B)
A] Aldehyde H H
a) H- —¢*@—OH
H H
B) Alkyne H H
N o
H H
C) Carboxylic acid H H H
) Ho{=g=¢-Br
H H H
H

D) Hgaloalkane
. o d) -H—¢HCEC—H
H

(A)  A-(c), B-(b), C-(d), D-(a) (B)  A-(b), B-(c), C-(d}, D-(a)

(C) A-(d), B-(a), C-(b), D-(c) (D)  A-(b), B-(d), C-(a)}, D-(c} ]
13, A ] Y GETER €

() 2 (B)

€ 3 (D) S 1
03000/42

| Turn over



824(EL)
, . atom iS
13. Valcncz:_\,. of carbon B) 4
:2’] - D) 5 1
JAHET - (3) ‘

Sub-Section - (3)

14, Wﬂamﬁﬁmmmmmﬁwmm
(A)  H - (B) 3Bl
(€) umd (D) iR 1

14.  The biological process by which harmful products are removed from

body is called _
(A) Reproduction (B) Excretion |
(C) Digestion (D)  Circulation i

15. W Hvelwwr & R foa o | SE-H 0 fbar w@ @ ¥ 2
(A) aﬁﬁffﬁmmmmﬁmﬁﬁﬁ_m
(B) wmmﬁwqﬁaam'ﬁﬁﬁﬂﬁﬁm
(C) FrET SRaliwe T FEeRe § srowa |
(D) T T YRETs i o fgre | 1

15. Which one of the following processes does not occur during
photosynthesis ? '

(A) Absorption of light energy by chlorophyll
(B) Conversioy of light energy into chemical energy
(C) Reduction of CO, into carbohydrate

(D) Breakdown of glucose intq pyruvic acid | |
16. STl SRV A1 < GRT e vy vy gt ot bt Ry oy ?

a) = SE A (B] s S '

(€) I A Hvee 3 (D) & 2 e 1

16.  Who proposed the theory of organic evolution b

(A) Charles Darwin (B) Lamarck

(C) Gregor Johann Mende] (D)  Hugo de Vries 1
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ISR X 3 s e o fd g

LY

(A) (B) URHEA
(C} =R . |

(D) ¥

In which of the following plants, has Mendecl performed his experiment ?

(C) Pigeon pea (D) Pea 1
18. A H R fFw O F qw oeher e 3 o

(A) Tt (B) TZFA

(C) T (D) =X ' 1
18.  In which of the following plants, are flowers unisexual ?

(A) Papaya (B) Hibiscus

(C) Brassica (D) Pisum sativum 1
19. RIS o3 & 6w 9T A SiwR-3 wnfia e s g 2

(A) SUSRE (B)  3Tugenfet

© mg” (D) = 1
19.  Copper-T is fitted in which part of female reproductive system ?

(A} Ovary (B)] Oviduct

(C) Uterus (D) Vagina 1
20. fFeaa & aR & faq 0 @ S9-91 T4 GT Wi § ?

(A)  TE i o FraRfa & g ®

(B) TE WeFH QHTA: de B AT §

(C) w&mﬁm@zmmmc%agﬁwﬁqﬁaﬁam%

(D) % firan Az A W9 g & 1
20.  Which of the following statements is not true about fermentation ? '

(A) This occurs in the absence of oxygen

(B) This generally occurs in yeast

(C) TIn this process pyruvate or pyruvic acid changes into CO2 and

cthanol

(D) This process completes in mitochondria 1

03000/42

[ Turn over



8
824(EL) -
A[vE -

PART - B
( FUTATRTE U )
( Descriptive Questions )
IquTT - (1)
Sub-Section — (1)

AT Tt s T (a) TG U G B % A @ (b) BIFH T U0 F 4=

F 4 A 242
1. Write down any two applications of a concave mirror. Draw ray diagram

for the image formation by a concave mirror when the object is (a) in

between infinity and centre of curvature, (b) in between focus and pole of
the mirror., 2+2

2./ AR % fam § 7 3 % 1 T I O % T HeT & oraad W@ ) o

aﬁmzﬁzoﬁﬁrﬁnﬁnﬁaﬁ%‘rgﬁmﬁhﬁﬁmaﬁﬁaﬁ,w

memrmmmmwﬁwwmgj 242
2. What are the laws of refraction ? An object of 3 cm is placed

perpendicular to the principal axis of 4 convex lens. Focal length of the
lens is 30 cm and the distance of the object from lens is 10 cm. Find the

position, sizc and nature of the image. Can we observe this image on a
screen ?

3,/ mwﬁmhﬂﬁlmwmmmwﬁamaﬁmawﬁ
W?W'40{JWW%W200W%%@H#W%|WW

5 oz =mm ﬁwméumﬁmﬁmwwaﬁmmaﬁwm

FITAT | 1+1+2
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atate Ohin's . . .
S law, Mention any fwo factors which affect the resistance of a

wirc. A bui .

ub of 400 W 18 connected with an clectric source of 200 V. Bulb
is used ' . . . .
15 only for fiye minutes, Find the current flowing in the bulb and

the magnitude of heat produced in the bulb. . 1+1+2

4.Wmmﬁ%wawmmm|wwmm%w
I JR 8 e v e & g A & oy A AR
FT 1 frh TR urEE e % SR IR g 8 Yared #@ iR
fordll W &89 § U TN g O # REE Sl 2+2+1+1
Soersr T ST B ol W | Ftt ferega <t 1 o S ® foR SRR
= st 7 ST S & 2 Fe SR Ry St @ WO F A6 SR
Wwﬁmﬂﬁﬁaﬁmlmﬁm@maﬁmﬁmﬁww&ﬁaﬁ
gt T A ¥ 2 2+33+73

4, Mention any two properties of magnetic field lines. Deﬁne Maxwell's cork-
screw rule for finding direction of magnetic field due to a straight current
carrying wi-rc.'Depict the magnetic field lines due to a vertical current
carrying conductor. Show uniform magnetic field in a given region.

2+2+1+1

OR
Explain the meaning of electromagnetic induction. What type of energy is
utilized by an electric generator in generating electricity ? Draw a labelled

diagram of the construction of an a.c. generator and explain its working.

What is the frequency of a.c. power supplied in India ? 2 + 3‘5 + %

03000/42 [ Turn over



10
824(EL)
ITATT - (2)
Sub-Section — (2)
5. (@) Fretffae whe @ dgR S
)  Ca(OH), (ag) + CO, (9] CaCO, (s) +H,0(!)
(i)  CH,(g)+0,(g)>CO,(g)+H0(I)

) @) afefEm Fe+CuSO,—» FeSO,+Cul ¥ afiwws wur 3ar &

A e |
(i) g mge affed & TF O T (e afifE @
) | 2+2
S (a) alance the following equations :
(i) Ca{(}lH]2 (ag) + CO,(g)—> C"EILCO3 (s) +H,0(!)
i) CH,(g) +0,(g)—>CO,(g)+H,0(1)
(b) (i) _ - Write the names of reactant and product for the reaction :

Fe+CuSO, - FeSO, +Cul
(11)

Give one example of thermal decomposition reaction ( only
equation for reaction ).

2+2
6. (a) Fr=afala @i = IUPAC A faifian
H H H H
) H-(~C=C-H @) H-$-¢—¢—cho
H H H H
(b)  Frfeien ol @ vy e qur e e -
() e i) AR 242
6. (@) -Write JUPAC names for the following compounds :
H H H H
() H—¢~CEC—H ) H- i—(‘f—i‘.—(‘;ﬁo
H _ H FEi
(b)  Write atomic number and valency of the following elements :
(i) Nitrogen (i) Magnesium 2+12

03000/42
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(b)  HERY
() T Hfufirar, 0+2+2
HYdr
(a) W % R &7 7y oy & sgam fAfan 3
(b) \ERCHR o1t ¥ ag s e § 2 A wha 3 pH % 3 I ferEa
_ , 3
7.  Write notes on the following :

‘(a)  Saturated and unsaturated hydrocarbons

(b) Corrosion

(c) Precipitation reaction. 2+2+2

OR
(a) Write a property of Plaster of Paris and its two applications. 3

(b) What do you understand by base and acid ? Write two applications

of pH in daily life. 3
| T - (3)
Sub-Section - (3)
g AT e Fed & » e} T o TR ST IR SRR e aU SR
1+3

escribe autotrophic and heterbtrophic nutrition with

suitable example. | 1+3
9, \mmﬁﬁmwwa?ﬂﬁﬁfﬁm@ﬁﬁmwwwm{
2+2

d diagram of longitudinal scction of flower and

8. What is nutrition ?D

9. Draw a well labellc

describe various {loral organs. | 2o

03000/42 [ Turn over
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10. Wﬁwmmwﬁmﬁaﬁqaﬁﬁm | Ca

10, Describe the process of sex determination in human beings in detail. 4

1 mm%#ﬁﬁﬂﬂm@mwm%?ﬁmam%
fafim Sumt & aoia ST 244

qar

TP & R S o7 1 QA a0 i | 6

11.  What do you mean by sustainable management of natural resources ?

Describe different measures for their conservation and management.

2+4
OR
Describe human male reproductive system with diagram. 6
b
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